 Finish It – Lesson 14
Directions: Complete each sentence.
1.) The inside of Erick’s locker was in turmoil because . . .
_______________________________________________________________________
2.) I knew I couldn’t be impartial because the disagreement was between . . .
_______________________________________________________________________
3.) The teacher was not authoritative, so the students . . .
_______________________________________________________________________
4.) The election results were not conclusive, so the principal . . .
_______________________________________________________________________
5.) The teacher told me to confine the questions I asked her to . . .
_______________________________________________________________________
6.) Mr. Dowd said that Vincent’s comment was not relevant because . . . 
_______________________________________________________________________
7.) The hotel accommodated pets, so the Martinez family . . .
_______________________________________________________________________
8.) The two mountain hikers became embroiled in . . .
_______________________________________________________________________
9.) When our teacher annexed the library, the librarian . . .
_______________________________________________________________________
[bookmark: _GoBack]10.) Nathan became disgruntled when his parents told him that . . .
_______________________________________________________________________
